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For Problem 1-6, use:

(20, -21) is on the terminal side of C and
13,
secQ= T QIII

to find the exact values of:
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Prove: S B8l %y cosxsin 9. Solve for 8&[0°, 360°]:cos@sin9=—[?1

cos® x—sin’ x 1+sinxcosx 4
(C")‘Z’Q S« ‘%é‘” ctS w73 1Szugcp§@:§
2

(Cﬁs < —S,M;) (0951\< +8 i Cos +S/~2\<_) S, B~ _g—

2-

@DW (ﬁos;c 45 wNY) (l) | Lo +£3629
- 20 = ?lz» 360 n
CW (i S o (oS %)

20 £ 71800
o> 2 80n

&~ (%of 210, &0 ,wi

—
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For Problem 1-6, use:

(20, -21) is on the terminal side of C and
13,
secQ= T QIlI

to find the exact values of:
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7. Prove:
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For Problem 1-6, use:

(20, -21) is on the terminal side of C and
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For Problem 1-6, use:

(20, -21) is on the terminal side of C and
13,
secQ= The QIII

to find the exact values of:
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